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QUESTION 1

Which of the following interface patterns uses the Web service runtime? (Choose three) 

A. Stateless 

B. Stateless (compatible with XI 3.0) 

C. Tentative Update and Compensate/Confirm (TUandC/C) 

D. Stateful E. Synchronous 

Correct Answer: ACD 

 

QUESTION 2

Which of the following describes a consumer proxy? 

A. A consumer proxy is a language-specific implementation of an outbound service interface. 

B. A consumer proxy is a Java class used in the Advanced Adapter Engine. 

C. A consumer proxy is an ABAP program used in ALE distribution. 

D. A consumer proxy is a language-specific implementation of an inbound service interface. 

Correct Answer: A 

 

QUESTION 3

The data type used in your mapping program has been structurally modified (for example, the parent name or the
namespace has been changed). What is the next step you have to perform? 

A. Adjust mappings using the data. 

B. Reload test messages. 

C. Adjust the structure of the inconsistencies in the data type. 

D. Map original nodes to new nodes using drag and drop. 

Correct Answer: A 

 

QUESTION 4

You want to implement exception handling in your ccBPM process. 

Which step types can trigger an exception? (Choose three) 
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A. Send 

B. Wait 

C. Control 

D. Transformation 

E. Receive 

Correct Answer: ACD 

 

QUESTION 5

You use an asynchronous-to-synchronous bridge in your integration process. 

What happens to the quality of the service descriptor in the SOAP header when a message is processed through the
Integration Engine? 

A. It changes from Exactly Once (EO) to Best Effort (BE). 

B. It changes from Exactly Once (EO) to Exactly Once In Order (EOIO). 

C. It changes from Best Effort (BE) to Exactly Once (EO). 

D. It changes from Best Effort (BE) to Exactly Once In Order (EOIO). 

Correct Answer: A 

 

QUESTION 6

Which of the following standard monitoring types are provided in SAP NetWeaver Process Integration? (Choose two) 

A. System monitoring using the Computing Center Management System (CCMS) 

B. Process monitoring with Process Monitoring Infrastructure (PMI) 

C. System monitoring using the Application Interface Framework (AIF) 

D. Functional Business Process Monitoring using Enterprise JavaBeans (EJB) modules 

Correct Answer: AB 

 

QUESTION 7

What is the purpose of the standard function "exists" when used for a source element in message mapping? 

A. To check whether the element exists in the source message 

B. To check whether the element in the source message has a value 
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C. To check whether the same element exists in the target structure 

D. To check whether the element is mandatory in the source structure 

Correct Answer: A 

 

QUESTION 8

Which of the following lookup functions are available as standard functions in the graphical message mapping tool?
(Choose two) 

A. RFC Lookup 

B. EJB Lookup 

C. ESR Lookup 

D. JDBC Lookup 

Correct Answer: AD 

 

QUESTION 9

Which of the following adapters can you select in the communication channel when using Process Integration proxy
communication? 

A. XI 

B. HTTP 

C. WS-RM 

D. RFC 

Correct Answer: A 

 

QUESTION 10

After you have activated an integration process, you check the transaction SXI_CACHE. A return code is displayed for
your integration process that is unequal to 0. What do you check to solve this issue? (Choose two) 

A. Whether the status of the process signature is set to incomplete 

B. Whether the activation log file contains error messages 

C. Whether the Customizing is complete (transaction SWF_XI_CUSTOMIZING) 

D. Whether the event trace is switched on (transaction SWELS) 

Correct Answer: BC 
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QUESTION 11

Messages of which quality of service can be executed in parallel queues on the Integration Engine? 

A. First In First Out (FIFO) 

B. Exactly Once In Order (EOIO) 

C. Exactly Once (EO) 

D. Best Effort (BE) 

Correct Answer: C 

 

QUESTION 12

In which step types of a ccBPM process can you select the "Create New Transaction" property? (Choose three) 

A. Receive 

B. Send 

C. Transformation 

D. Receiver Determination 

E. Wait 

Correct Answer: BCD 

 

QUESTION 13

You have created a message mapping using drag and drop from the source to the target element. When testing the
mapping by entering a single value for the source element, you notice that the target element has been created with 3
occurrences. Each target element occurrence is filled with the same value as the source element. 

What could be the reason for this behavior? 

A. The data type for the source element has the occurrence property maxOccurs=3. 

B. The data type for the source element has the occurrence property minOccurs=3. 

C. The data type for the target element has the occurrence property maxOccurs=3. 

D. The data type for the target element has the occurrence property minOccurs=3. 

Correct Answer: D 

 

QUESTION 14
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What is a context object? 

A. An ARIS modeling entity 

B. An XPath expression 

C. A placeholder for a namespace 

D. An alias for an interface 

Correct Answer: B 

 

QUESTION 15

What is the correct cardinality when using multi-mapping (target message structure >1) in an integration scenario
without ccBPM? 

A. n:m 

B. n:1 

C. 1:1 

D. 1:n 

Correct Answer: D 
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